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Q2. [17 points] Consider the following function f(x):
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3. (26 pts) Find the following limits. If the limit is infinite or does not exist, spec1fy 0.
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5, (12 pts) A stone is thrown straight up from the ground. Its position s} in feet.above the ground afier ¢
seconds is given by s(t) = 80t — 162 .

(2) (2pts) When does the stone land back on the ground?
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6. (12 pts) (a) (2pts) Write the deﬁm'tion for a function f{x) to be continuous at x=a.
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(b) (5pts) Use this definition to determine whether or not the following function is continuous at x==0
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(e) (5pts) List all asymptotes, vertical or horizontal (if any), of the funcnon Jx) from part (b). Justlfy your
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7. (10 pts) Find the point(s) on'the graph of f(z) = 2 — 12z where the tangent line is horizontal. (Here you can
use the shorfcuts for dérivative computations.)
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8.5(10pt5). Chobse: ONE of the following: -

(a) State and prove th qtiadratic forinila,
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